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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

.

Fierce winds and deadly waves were only one
Columbus confronted when sailing to unknown lands.

----- many explorers like Christopher

|) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ----------- - to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This -=—---eeeeuee-- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the -------eeeeeeee effects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeseeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would -----=-eee=--- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—-- ---- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—------ pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get -------aeeev -- atmosphere at home for studies perform better than

students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail —--—--uev --to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~====eemeeeemee 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----=---=--—--- to the oneness of art and life.
(14) mmmmmmemmmeeen . actions and performances on streets and public squares, followed by
her "living environments” and the "windows", (15) ====ememmm- --— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4) it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Edwin James George Pitman was educated at the University of Melbourne, graduating
with B.Sc. and M.A. degrees. He was acting professor of mathematics at the
University of New Zealand 1922-1923. then tutor in mathematics and physics at
residential colleges of the University of Melbourne 1924-1925. In 1926 he was
appointed professor of mathematics at the University of Tasmania, a position he held
until his retirement at the end of 1962.

As part of his duties at the University of Tasmania. Pitman was required to offer a
course in statistics. He was also consulted by experimentalists of the Tasmanian
Department of Agriculture about the analysis of their data. These circumstances led to
his studying the then new statistical methods and ideas being developed by R. A.
Fisher. As Fisher's ideas were not then widely understood. Pitman set about mastering
his work, in particular, Statistical Methods for Research Workers.

Pitman became interested in testing hypotheses about means without any
accompanying specification of form of population distributions. He examined the non
null distribution of the test statistic for what would now be called the permutation test,
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16-

17-

18-

19-

first for the test of equality of two means, and then for tests of several means (analysis
of variance) and of correlation. The results are given in three papers.

This work on distribution-free methods culminated in the lecture notes developed
during a visit to the United States in 1948 and 1949. These notes. produced for the
lectures given at the University of North Carolina, were never published but were
widely circulated in mimeographed form. They were frequently cited and undoubtedly
provided a starting point for much subsequent work in this field.

However. Pitman's first published papers dealt with basic theoretical questions
arising from the work of R. A. Fisher. His first paper not only discussed the
applicability of the concept of intrinsic accuracy but also established the result that
families of distributions admitting a nontrivial sufficient statistic are of exponential
type.

Pitman received his M.A. degree ---------—- ----

1) from the University of Melbourne 2) from New Zealand

3)in 1922 4)in 1923

He offered a course in statistics in ---=ecmeeeeeee,

1) Melbourne 2) New Zealand 3) Tasmania 4) London
He retired --- i

1) in 1962 2) in Melbourne 3)in New Zealand 4)in 1960
Pitman became interested in —-----eeeeeeeee ’

1) regression 2) permutation test

3) probability 4) combinatorics

His first paper discussed —----=-=-eennnv :

1) independence 2) complete statistics

3) correlation 4) exponential family
PASSAGE 2:

W. S. Gusset entered the service of the Guinness brewery business in Dublin Ireland,
in 1899, after obtaining a degree in chemistry at Oxford, with a minor in mathematics.
He was asked to investigate what relations existed between the quality of materials
such as barley and hops. production conditions, and the finished product. These
practical problems led him to seek exact error probabilities of statistics from small
samples, a hitherto unresearched area. His firm, which would later require him to write
under the pseudonvm "Student," arranged for him to spend the academic year 1906-
1907 studying under Karl Pearson at the Biometric Laboratory in University College,
London. From Pearson, Gosset learned the theory of correlation and the Pearson
system of frequency curves., both of which helped him in developing statistical
techniques to analyze small-sample data.

“The study of the exact distributions of statistics commences in 1908 with Student's
paper The Probable Error of a Mean™ wrote R. A. Fisher in this famous paper which
came from his period at the Biometric Laboratory:

1. Gosset conjectured correctly the distribution of the sample variance s’ in a normal
sample.

2. Unaware of work by Abbe and Helmert, he proved that s’ and the mean X of such a
sample are uncorrelated and conjectured correctly that they are independent.
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27-

28-

29-

3. In essence he derived the r-distribution named after him, as a Pearson type VII
frequency curve.

Gusset (“Student”) received a degree in chemistry —-------eee- e

1) at Oxford 2)in 1900 3) in Canada 4) in Australia
The word “pseudonym™ in paragraph 1 means

1) first name 2) family name 3) real name 4) false name
What was Gusset’s pseudonym?

1) William 2) Sealy 3) Student 4) Teacher
He studied under --—--===mrmeeev,

1) Fisher 2) K. Pearson 3) Helmert 4) J. Pearson
He introduced --=-====nnn- -

1) Cauchy distribution 2) Gamma distribution

3) t-distribution 4) exponential distribution
PASSAGE 3:

In mathematical analysis and in probability theory. a o-algebra (sigma field) on a set
X is a collection of subsets of X that is closed under a countable-fold set operations
(complement, union of countably many sets and intersection of countably many sets).

By contrast, an algebra is only required to be closed under finitary set operations.
That is a o-algebra is an algebra of sets, completed to include countably infinite
operations. The pair (X ., F) is called measure space and elements of F are named
measurable sets. On the other hand. x is called sample space and every element of
sigma-field is called an event.

The sets of all measurable sets would be —---mmmmemeeee,
1) X 2)(X, F) NX,F.,pn) 4) a sigma-field
An algebra ----eeeeee-- ——

1) is the sama o-field

2) is closed under finite conditions of set operations
3) measures space

4) is a measurable set

A measurable set i§ —----eeeeeeee

1) a subset of X which bclongs to F 2) X
3)3 4) (X.3J)
An algebra is closed under --—seeeeceues,

1) additivity

2) countable-field set operation

3) complement. union and intersection of sets

4) countable additively

The word "event" in the last sentence means a ———---—emeemeee,

1) measure space 2) measure

3) measurable space 4) measurable set
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